MANATEE COUNTY GOVERNMENT

SOURCE SELECTION

SUBJECT	Issuance of Notice of Intent to Award 9 th St. E 53 rd Ave E- 57 th Ave E (IFB# 12-1881-DS)	DATE POSTED	Date Posted on Mymanatee.org 1/29/13
PURCHASING REPRESENTATIVE	Donna M. Stevens (941) 749-3045 phone (941 749-3034 fax	DATE CONTRACT SHALL BE AWARDED	Contingent upon the acceptance from the Board of County Commissioners.
DEPARTMENT	Financial Management Dept. Purchasing Division	CONSEQUENCES IF DEFERRED	N/A M
SOURCE RECOMMENDATION	Gator Grading and Paving, LLC	AUTHORIZED BY DATE	Melissa Wendel, CPPO Purchasing Official January 2 2013

NOTICE OF INTENT TO AWARD

Notice of Intent to award Invitation For Bid # 12-1881-DS, 9th St. E 53rd Ave E- 57th Ave E to the lowest, responsive and responsible bidder Gator Grading and Paving, LLC, Palmetto FL 34221 for a total base bid of \$2,712,272.52 and 280 calendar days for completion.

ENABLING/REGULATING AUTHORITY

Federal/State law(s), administrative ruling(s), Manatee County Comp Plan/Land Development Code, ordinances, resolutions, policy.)

Manatee County Code of Laws

BACKGROUND/DISCUSSION

- A General Contractor, an Underground Utility Contractor or an FDOT Certificate of Qualification contractor is required to provide all required materials, permits, labor and incidentals for the 2-lane to 4-lane widening of 9th Street East between 57th Avenue East and 53rd Avenue East (SR 70). In general, these improvements consist of asphalt paving, concrete curb, stormwater drainage, and a mast arm traffic signal at 53rd Avenue East, as well as, installation of video detection on the north leg of the intersection of 9th Street East at 57th Avenue East, signing, pavement marking, sidewalk, water main construction, and sanitary sewer force main construction.
- Background/discussion continued on page 2.

ATTACHMENTS: (List in order as attached)		
Bid Tabulation		
COST \$2,712,272.52	FUNDING SOURCE (ACCT# & NAME)	4 Lane Rd/9thStE/53 rd Ave E/57 th St. E (2004 Transportation Bonds Capital Projects 3236040460/534000/6040460/0004) (Roads Impact Fees C Cap Fund 3346040460/534000/6040460/0004)



Source Selection IFB# 12-1881-DS 9th Street East / 53rd Avenue East / 57th Avenue East

- November 9, 2012 to January 3, 2013 appropriate bid procedures was followed. Notice of Bid availability was broadcast to DemandStar, mymanatee.org and the Manatee Chamber of Commerce.
- Five (5) bids were received.

•	Manatee County Firms	Bid Offering Bid A (340 days)	Bid Offering Bid B (280 days)
•	Woodruff and Sons Inc.	\$2,858,752.50	\$2,858,752.50
•	Superior Asphalt .	\$2,861,701.73	\$2,831,701.73
•	Gator Grading & Paving, Inc.	No Bid	\$2,712,272.52

Hillsborough County Firms
 QGS Development Inc.
 S3,244,151.26
 Cone & Graham, Inc.
 Bid Offering Bid A (340 days)
 Bid Offering Bid B (280 days)
 \$3,244,151.26
 \$3,244,151.26
 \$3,268,435.23
 \$3,268,435.23

- January 18, 2013 received a memorandum from Public Works Department recommending award to Gator Grading and Paving LLC., located at: 2704 105th St. East Palmetto FL 34221 for a total base bid of \$2,712,272.52, with a 280 calendar day completion.
- This funding source for this Agreement is Transportation Bonds, 4 Lane Rd/ 9thSt.E/53rd Ave E/ 57th St. E., (3236040460/534000/6040460/0004 and 3346040460/534000/6040460/0004).

MANATEE PROJECT NO. 6040460

9TH STREET EAST / 53RD AVENUE EAST / 57TH AVENUE EAST

				A. B. S. C. C. A. A.	Profession Section	Standard March	2	
	BID "A" 340 CALENDAR DAYS				Gator Grading & Paving 2704 105th Street East Palmetto, FL 34221 (Manatee County)		Superior Asphalt P.O. Box 2489 Oneco, FL 34284 (Manatee County)	
ITEM	PART CONTROL OF THE PROPERTY OF THE PART O			Unit	Extended	Unit	Extended	
	Line Item	Unit	Quantity	Price	Price	Price	Price	
	MOBILIZATION	LS	1			\$308,900.00	\$308,900.00	
	MAINTENANCE OF TRAFFIC	LS	1			\$242,140.00	\$242,140.00	
	COMMERCIAL MATERIALS FOR DRIVEWAY MAINT	CY	250			\$35.45	\$8,862.50	
	SEDIMENT BARRIER	LF	6366			\$1.85	\$11,777.10	
	FLOATING TURBIDITY BARRIER	LF	80			\$20.40	\$1,632.00	
	SOIL TRACKING PREVENTION DEVICE	EA	2			\$5,145.00	\$10,290.00	
	NLET PROTECTION SYSTEM	EA	34			\$216.00	\$7,344.00	
	CLEARING AND GRUBBING	LS	. 1	J N	O BID	\$39,500.00	\$39,500.00	
	REMOVAL OF EXISTING PAVEMENT (CONCRETE)	SY	1238			\$7.25	\$8,975.50	
	MAIL BOX (FURNISH AND INSTALL)	EA	8			\$216.00	\$1,728.00	
	REGULAR EXCAVATION	CY	17519			\$4.50	\$78,835.50	
	SUBSOIL EXCAVATION	CY	3486			\$10.60	\$36,951.60	
	EMBANKMENT	CY	6182			\$4.00	\$24,728.00	
	TYPE B STABILIZATION	SY	22486			\$4.65	\$104,559.90	
	OPTIONAL BASE GROUP 6(8" CEMENT TREATED SHELL)(LBR 100) or 8" CRUSHED CONCRETE or 5"							
	ASPHALT BASE COURSE (ABC) or TYPE B-12.5 (Addendum #1)	SY	20902			\$9.45	\$197,523.90	
	MILLING EXISTING ASPHALT PAVEMENT (3" AVERAGE DEPTH)	SY	2100			\$5.35	\$11,235.00	
	TYPE S ASPHALTIC CONCRETE	TN	3499			\$78.35	\$274,146.65	
	SUPERPAVE ASPHALTIC CONCRETE, TRAFFIC C	TN	174			\$119.00	\$20,706.00	
	ASPHALTIC CONCRETE FRICTION COURSE (INC BIT)(FC-3)	TN	1171			\$102.50	\$120,027.50	
	ASPHALTIC CONCRETE FRICTION COURSE (TRAFFIC C)(INC PG 67-22)(FC-12.5)	TN	174			\$136.80	\$23,803.20	
	CLASS NS CONCRETE (GRAVITY WALL)	CY	178			\$275.00	\$48,950.00	
	CLASS I CONCRETE (ENDWALLS)	CY	28.33			\$685.00	\$19,406.05	
	NLETS (CURB TYPE P-1) (<10)	EA	1			\$12,860.00	\$12,860.00	
	NLETS (CURB TYPE P-5) (<10)	EA	8			\$2,890.00	\$23,120.00	
	NLETS (CURB TYPE P-5) (MODIFIED)(<10)	EA	3			\$10,600.00	\$31,800.00	
	NLETS (CURB TYPE P-6) (<10')	EA	5			\$3,255.00	\$16,275.0	
	NLETS (CURB TYPE P-6) (MODIFIED)(<10)	EA	1			\$10,765.00	\$10,765.0	
	NLETS (CURB TYPE J-5) (<10)	EA	2			\$4,470.00	\$8,940.00	
	NLETS (DITCH BOTTOM TYPE "C")(<10')	EA	1			\$4,135.00	\$4,135.0	
30	NLETS (DITCH BOTTOM TYPE "D")(<10')(MODIFIED)	EA	2			\$4,560.00	\$9,120.00	
	MANHOLE (P-8) (<10')	EA	. 2			\$2,390.00	\$4,780.00	
	MANHOLE (J-8) (<10')	EA	4			\$7,055.00	\$28,220.00	
	MANHOLE (J-8) (<10')(PARTIAL)	EA	2			\$10,600.00	\$21,200.00	
	MANHOLES (ADJUST)	EA	6			\$525.00	\$3,150.00	
	PIPE CULVERT OPTIONAL MATERIAL (S/CD)(ROUND)(18*)(RCP)	LF	1298			\$40.95	\$53,153.10	
	PIPE CULVERT OPTIONAL MATERIAL (S/CD)(ROUND)(24*)(RCP)	LF	847			\$51.35	\$43,493.45	
	PIPE CULVERT OPTIONAL MATERIAL (S/CD)(ROUND)(30*)(RCP)	LF	329			\$70.75	\$23,276.75	
	PIPE CULVERT OPTIONAL MATERIAL (S/CD)(ELLIP)(12"x18")(ERCP)	LF	9			\$266.00	\$2,394.00	
	PIPE CULVERT OPTIONAL MATERIAL (S/CD)(ELLIP)(14"x23")(ERCP)	LF	84			\$75.00	\$6,300.00	
	PIPE CULVERT OPTIONAL MATERIAL (S/CD)(ELLIP)(29"x45")(ERCP)	LF	308			\$111.35	\$34,295.80	
	PIPE CULVERT OPTIONAL MATERIAL (S/CD)(ELLIP)(53"x83")(ERCP)	LF	95			\$634.00	\$60,230.00	
	MITERED END SECTION (18* RCP SD) (INCLUDES RIP RAP)	EA	1			\$1,460.00	\$1,460.00	
	MITERED END SECTION (30" RCP SD) (INCLUDES RIP RAP)	EA	11			\$2,670.00	\$2,670.00	
	MITERED END SECTION (OPT / ELLIP / ARCH) (29" X 45" ERCP) (INCLUDES RIP RAP)	EA	1			\$3,440.00	\$3,440.00	
	CROSSHOLE SONIC LOGGING	EA	2			\$1,685.00	\$3,370.00	
	PEDESTRIAN / BICYCLE RAILING (ALUMINUM, 42" PICKET RAILING)	LF	1269			\$35.30	\$44,795.70	
47	CONCRETE CURB AND GUTTER (TYPE F)	LF	5647			\$9.45	\$53,364.15	

Page 1 of 6

MANATEE PROJECT NO. 6040460 9TH STREET EAST / 53RD AVENUE EAST / 57TH AVENUE EAST

				1- Chiaste	The Park Control	1	2
	BID "A" 340 CALENDAR DAYS			Gator Grading & Paving 2704 105th Street East Palmetto, FL 34221 (Manatee County)		Superior Asphalt P.O. Box 2489 Oneco, FL 34264 (Manatee County)	
ITEM		SEE EXPLOSION	建筑地外的	Unit	Extended	Unit	Extended
No.	Line Item	Unit	Quantity	Price	Price	Price	Price
48	CONCRETE CURB (TYPE D)	LF	312			\$10.55	\$3,291.60
49	CONCRETE TRAFFIC SEPARATOR (TYPE IV, 4' WIDE)	LF	796			\$24.85	\$19,780.60
50	CONCRETE SIDEWALK, 4" THICK	SY	3,040			\$20.55	\$62,472.00
51	CONCRETE SIDEWALK, 6" THICK (DRIVEWAYS)	SY	704			\$27.35	\$19,254.40
52	FENCE (TYPE B) (5.1'- 6' HEIGHT)	LF	1,057			\$11.05	\$11,679.85
53	FENCE GATES (TYPE B)(DOUBLE)(20' OPENING)	EA	22			\$1,245.00	\$2,490.00
54	DIRECTIONAL BORE (< 6")	LF	96			\$12.10	\$1,161.60
55	DIRECTIONAL BORE (6" to <12")	LF	325	I N	O BID	\$24.00	\$7,800.00
56	PERFORMANCE TURF, SOD	SY	10,470			\$2.92	\$30,572.40
57	TIMING IMPLEMENTATION, CONTROLLER & COORDINATION UNIT	PI	1			\$505.00	\$505.00
58	CONDUIT, SIGNAL (F&I) (ABOVE GROUND)	LF	36			\$13.85	\$498.60
59	CONDUIT, SIGNAL (F&I) (UNDERGROUND)	LF .	3,793			\$3.15	\$11,947.95
60	CABLE, SIGNAL (F&I)	PI	1			\$8,550.00	\$8,550.00
61	FIBERGLASS INSULATOR (F&I)	LF I	100		THE STATE OF THE S	\$18.80	\$1,880.00
62	PULL AND JUNCTION BOXES (F&I) (PULL BOX)	EA	27			\$516.00	\$13,932.00
63	SIGNALS, ELEC POWER SERV (UNDERGROUND)(PURCHASED BY CONTRACTOR)	AS	1			\$2,420.00	\$2,420.00
64	SIGNALS, ELECTRICAL SERVICE WIRE (3 WIRE) (F&I)	TF I	69			\$3.05	\$210.45
65	MAST ARM ASSEM (F&I)(WS 130) (STEEL)(SINGLE ARM)(46')(BLACK)(W/O LUM)	EA	1			\$27,790.00	\$27,790.00
66	MAST ARM ASSEM (F&I) (WS 130) (STEEL) (SINGLE ARM) (70.5') (BLACK) (W/O LUM)	EA	-			\$33,370.00	\$33,370.00
67	MAST ARM ASSEM (Fal) (WS 130) (STEEL) (SINGLE ARM) (60') (BLACK) (W/ LUM)	EA	2			\$30,055.00	\$60,110.00
68	TRAFFIC SIGNAL (F&I) (3 SECT.,1-WAY,STANDARD) (LED)	AS	12	 		\$758.00	\$9,096.00
69	PEDESTRIAN SIGNALS (F&I) (COUNTDOWN, 1-WAY)	AS	8			\$590.00	\$4,720.00
		EA	8	 		\$1,030.00	\$8,240.00
70	SIGNAL HEAD AUXILIARIES (F&I) (ALUMINUM PEDESTAL)	EA	5				
71	VEHICLE DETECTOR ASSEMBLES (F&I) (VIDEO)	EA EA	<u>ş</u>	-		\$6,830.00	\$34,150.00
72	PED DETECTOR (F&I) (POLE OR CABINET MOUNTED DETECTOR STATION & SIGN)	EA	7			\$337.00	\$337.00
73	PED DETECTOR (F&I)(DETECTOR WITH SIGN ONLY)					\$179.00	\$1,253.00
74	ACTUATED SOLID ST. CONTROLLER AS (NEMA)	AS	1	ļ		\$37,100.00	\$37,100.00
75	REMOVE TRAFFIC SIGNAL HEAD ASSEMBLY	EA	10	ļ		\$33.70	\$337.00
76	REMOVE PEDESTRIAN SIGNAL ASSEMBLY	EA	44			\$50.55	\$202.20
77	SIGNAL PEDESTAL REMOVE	EA	2			\$78.95	\$157.90
78	POLE REMOVAL (DEEP) (BOLT ON ATTACHMENT)	EA	4			\$685.00	\$2,740.00
79	REMOVE CONTROLLER ASSEMBLY	EA	1			\$252.00	\$252.00
80	REMOVE SPAN WIRE ASSEMBLY	EA	4			\$253.00	\$1,012.00
81	REMOVE CABLING AND CONDUIT	PI	1			\$490.00	\$490.00
82	REMOVAL MISCELLANEOUS SIGNAL EQUIPMENT	PI	1			\$337.00	\$337.00
83	SIGN, INTERNALLY ILLUMINATED (F&I) (STREET NAME)	EA	4			\$4,105.00	\$16,420.00
84	SIGN SINGLE POST (<12 SF)	AS	20			\$265.00	\$5,300.00
85	SIGN EXISTING (RELOCATE, SINGLE POST)	AS	5			\$158.00	\$790.00
86	SIGN EXISTING (REMOVE, SINGLE POST)	AS	8			\$26.35	\$210.80
87	SIGN PANEL (F&I) (15 OR LESS SF)	EA	10			\$395.00	\$3,950.00
88	RETRO-REFLECTIVE PAVEMENT MARKERS	EA	425			\$3.15	\$1,338.75
89	REFLECTIVE PAINT (ISLAND NOSE) (YELLOW)	SF	38			\$3.17	\$120.46
90	SOLID TRAFFIC STRIPE, THERMOPLASTIC (WHITE)(6")	NM	1.205	Andrea of the state of the stat		\$5,210.00	\$6,278.05
91	SOLID TRAFFIC STRIPE, THERMOPLASTIC (WHITE)(12")	LF	1,352			\$2.10	\$2,839.20
92	SOLID TRAFFIC STRIPE, THERMOPLASTIC (WHITE)(24*)	LF	293			\$4.00	\$1,172.00

Page 2 of 6

IFB # 12-1881-DS MANATEE PROJECT NO. 6040460

9TH STREET EAST	53RD AVENUE EAST	57TH AVENUE EAST
-----------------	------------------	------------------

				可是阿爾德語	(1) (高級數學及學問	自然以为于	認識的主義問題	
	BID "A" 340 CALENDAR DAYS				Grading & Paving 05th Street East otte, FL 34221 nates County)	Superior Asphalt P.O. Box 2489 Oneco, FL 34284 (Manates County)		
ITEM		35,56	10 10 10 10 10 10 10 10 10 10 10 10 10 1	Unit	Extended	Unit	Extended	
-	Line item	Unit	Quantity	Price	Price	Price	Price	
	SKIP TRAFFIC STRIPE, THERMOPLASTIC (WHITE) (6") (10'-30' SKIP)	GM	0.924			\$1,500.00	\$1,388.00	
	SKIP TRAFFIC STRIPE, THERMOPLASTIC (WHITE) (6") (2"-4" SKIP)	LF	553			\$1.05	\$580.65	
	PAVEMENT MESSAGES, THERMOPLASTIC (WHITE)	EA	16			\$106.00	\$1,696.00	
96	DIRECTIONAL ARROWS, THERMOPLASTIC (WHITE)	EA	44			\$64.00	\$2,816.00	
	SOLID TRAFFIC STRIPE, THERMOPLASTIC (YELLOW) (6")	NM	1.012			\$5,210.00	\$5,272.52	
	SOLID TRAFFIC STRIPE, THERMOPLASTIC (YELLOW) (18")	LF	42			\$3.05	\$128.10	
	SKIP TRAFFIC STRIPE, THERMOPLASTIC (YELLOW) (6") (10"-30" SKIP)	GM	0.441			\$1,500.00	\$661.50	
	LUMINAIRE & BRACKET ARM	EA	2		IO BID	\$875.00	\$1,750.00	
	ITS ELECTRICAL POWER, F&I, SERVICE WIRE	LF	36			\$2.40	\$86.40	
	ITS CONDUIT, F&I, UNDERGROUND	LF	12			\$5.90	\$70.80	
	ITS PULL & JUNCTION BOX, F&I	EA	1			\$1,105.00	\$1,105.00	
104	ALUMINUM SHEET PILE	LF	206			\$320.00	\$65,920.00	
	DISCRETIONARY WORK	LS	1	SERVED STORY			\$100,000.00	
	ROADWAY SUBTOTAL						\$2,748,663.13	
	FORCEMAIN					1		
105	UTILITY PIPE (4" PVC)	LF	1,280			\$12.55	\$16,064.00	
	VALVE ASSEMBLY (F&I)(CAST IRON)(GATE)(150PSI)(4°)(FM)	EA	1			\$1,270.00	\$1,270.00	
107	CONNECTION TO EXISTING SYSTEM	EA	2			\$2,405.00	\$4,810.00	
	DISCRETIONARY WORK	LS	1	网络阿拉拉斯			\$8,000.00	
	FORCEMAIN SUBTOTAL						\$28,144.00	
	WATERMAIN							
108	UTILITY PIPE (6" PVC)	LF	1,342			\$20.80	\$27,913.60	
109	UTILITY PIPE (6" DI)	LF	170			\$33.30	\$5,661.00	
110	VALVE ASSEMBLY (F&I)(CAST IRON)(GATE)(150PSI)(B*)(WM)	EA	3			\$1,315.00	\$3,945.00	
111	UTILITY FIXTURES RELOCATE (WATER METERS)	EA	2			\$925.00	\$1,850.00	
112	UTILITY FIXTURES ADJUST	EA	5			\$1,620.00	\$8,100.00	
113	FIRE HYDRANT	EA	3			\$4,515.00	\$13,545.00	
114	6" BACKFLOW PREVENTER (RELOCATE)	EA	1			\$4,475.00	\$4,475.00	
115	Z WATER METER/BACKFLOW PREVENTER (RELOCATE)	EA	2			\$2,440.00	\$4,880.00	
116	CONNECTION TO EXISTING SYSTEM	EA	2			\$1,585.00	\$3,170.00	
117	CUT & CAP EXISTING WATER MAIN	EA	1			\$1,355.00	\$1,355.00	
	DISCRETIONARY WORK	LS	1				\$10,000.00	
	WATERMAIN SUBTOTAL						\$84,894.60	
	TOTAL BID PRICE "B"	Trender.	Called Localities	COLUMN DE	\$0.00	经下产品的人	\$2,861,701.73	
Section 1	Acknowledged Addendum #1	2004000000000	STREET SOURCE SECTION				Yes	
COLUMN TO	Florida Trench Safety Act	\$ 50 KIND OF	网络沙兰尼里 拉阿拉				Yes	
100	Contractor's Questionnaire	AND THE RESERVE	Market Alley St. Alley St.				Yes	
1000	Contractor's License	100				EDOT Our	ification - 8 Years	
	Public Contracting & Environmental Crimes	2003-250				FUUT QUAI	Yes	
100	Affidavit for Local Business (if applicable)	PARTY NAMED IN	and remaining to				Yes	
	Bid Bond						Yes	
GRUP 1770350							195	
	Notes:						N/A	

Page 3 of 6

	LET LAOTA		3		CONTRACTOR AND ADDRESS AND	ASSESSMENT AND ADDRESS OF THE PARTY OF THE P	CONTRACTOR OF THE PARTY OF THE	THE RESERVE OF THE PERSON NAMED IN	CARLES AND ADDRESS OF THE PARTY OF	and the latest designation of the latest des
BID "A" 340 CALENDAR DAYS				Woodruff & Sons, Inc. P.O. Box 10127 Bradenton, FL 34262-0127 (Manatee County)		QGS Site Development 17502 CR 672 Lithia, FL 33547 (Hillsborough County)		Cone & Graham, Inc. 5101 Cone Road Tampa, FL 33610 (Hilleborough County)		
ITEM	()	NE 81598	Unit	Extended	Unit	Extended	Unit	Extended	经过来。在过程的 的	(25) (15) (S)
No. Line Item	Unit	Quantity	Price	Price	Price	Price	Price	Price	WANT BURNESS	School School
1 MOBILIZATION	LS	1	\$215,917.84			\$301,879.00		\$310,000.00		
2 MAINTENANCE OF TRAFFIC	LS	1 1	\$112,088.31	\$112,088.31	\$135,642.00		\$130,000.00			
3 COMMERCIAL MATERIALS FOR DRIVEWAY MAINT	CY	250	\$37.10	\$9,275.00	\$53.64	\$13,410.00	\$15.00			
4 SEDIMENT BARRIER	LF LF	6366	\$1.37	\$8,721.42	\$1.07	\$6,811.62	\$1.00	\$6,366.00		
5 FLOATING TURBIDITY BARRIER	EA EA	80	\$12.59	\$1,007.20	\$10.00	\$800.00	\$7.50	\$600.00		
6 SOIL TRACKING PREVENTION DEVICE		2	\$2,029.63	\$4,059.26	\$2,621.00	\$5,242.00	\$2,000.00	\$4,000.00		
7 INLET PROTECTION SYSTEM	EA LC	34	\$82.65	\$2,810.10	\$78.43	\$2,666.62	\$70.00	\$2,380.00		
8 CLEARING AND GRUBBING	LS	1238	\$38,494.91	\$38,494.91	\$247,692.00	\$247,692.00	\$316,000.00	\$316,000.00		
9 REMOVAL OF EXISTING PAVEMENT (CONCRETE)	EA EA	8	\$6.06	\$7,502.28	\$20.82	\$25,775.16	\$5.00	\$6,190.00		
10 MAIL BOX (FURNISH AND INSTALL)	CY	17519	\$183.61	\$1,468.88	\$163.00	\$1,304.00	\$90.00	\$720.00		
11 REGULAR EXCAVATION			\$2.77	\$48,527.63	\$22.74	\$398,382.06	\$7.50			
12 SUBSOIL EXCAVATION 13 EMBANKMENT	CY	3486 6182	\$10.10 \$3.81	\$35,208.60	\$17.35	\$60,482.10	\$17.00			
	SY	22486	\$3.81	\$23,553.42	\$1.16	\$7,171.12	\$8.50	\$52,547.00		
14 TYPE B STABILIZATION OPTIONAL BASE GROUP 6(8* CEMENT TREATED SHELL)(LBR 100) or 8* CRUSHED CONCRETE or 5*	31	22480	\$4.50	\$101,187.00	\$3.24	\$72,854.64	\$8.00	\$179,888.00		
	SY	20902	\$9.05	4400 400 40	240.00	**** *** **	*** **			
15 ASPHALT BASE COURSE (ABC) or TYPE B-12.5 (Addendum #1) 16 MILLING EXISTING ASPHALT PAVEMENT (3" AVERAGE DEPTH)	SY	2100	\$5.35		\$10.33 \$4.60	\$215,917.66 \$9.660.00	\$15.00			
17 TYPE S ASPHALTIC CONCRETE	TN	3499	\$101.58		\$84.54		\$3.55	\$7,455.00		
	TN	174	\$101.58			\$295,805.46	\$77.80			
18 SUPERPAVE ASPHALTIC CONCRETE, TRAFFIC C 19 ASPHALTIC CONCRETE FRICTION COURSE (INC BIT)(FC-3)	TN	1171	\$130.97	\$25,398.78 \$153,365.87	\$128.22 \$110.18	\$22,310.28 \$129,020.78	\$118.00 \$101.40			+
20 ASPHALTIC CONCRETE FRICTION COURSE (TRAFFIC C)(INC PG 67-22)(FC-12.5)	TN	174	\$166.91	\$29,042.34	\$146.47	\$25,485.78	\$101.40	\$23,455.20		
21 CLASS NS CONCRETE (GRAVITY WALL)	CY	178	\$659.97	\$117,474.66	\$411.44	\$73,236.32	\$134.80 \$590.00			
22 CLASS I CONCRETE (GNAVITY WALL)	CY	28.33	\$821.97	\$23,286.41	\$486.40	\$13,779.71	\$750.00	\$105,020.00 \$21,247.50		
23 INLETS (CURB TYPE P-1) (<10)	EA	1	\$12,975.89	\$12,975.89	\$1,945.00	\$1,945.00	\$3,460.00	\$3,460.00		
24 INLETS (CURB TYPE P-5) (<10)	EA	8	\$2,958.92	\$23,671.36	\$2,770.83	\$22,166.64	\$3,460.00	\$24,256.00		
25 INLETS (CURB TYPE P-5) (MODIFIED)(<10)	EA	3	\$10,602.52	\$31,807.56	\$4,210.57	\$12,631.71	\$2,646.00	\$7,938.00		
26 INLETS (CURB TYPE P-6) (<10')	EA	5	\$3,311.30	\$16,556.50	\$3,368.46	\$16,842.30	\$3,050.00	\$15,250.00		
27 INLETS (CURB TYPE P-6) (MODIFIED)(<10)	EA	1 1	\$10,790,37	\$10,790.37	\$3,124.00	\$3,124.00	\$3,288.00	\$3,288.00		
28 INLETS (CURB TYPE J-5) (<10)	EA	2	\$4,547,29	\$9,094.58	\$4,672.38	\$9,344.76	\$4,149.00	\$8,298.00		+
29 INLETS (DITCH BOTTOM TYPE "C")(<10")	EA	+	\$4,114.99	\$4,114.99	\$1,158.31	\$1,158.31	\$1,982.00	\$1,982.00		
30 INLETS (DITCH BOTTOM TYPE 'D')(<10')(MODIFIED)	EA	2	\$4,534.99	\$9,069.98	\$4,492.00	\$8,984.00	\$3,510.00	\$7,020.00		
31 MANHOLE (P-8) (<10')	EA	2	\$2,472.83	\$4,945.66	\$2,084,54	\$4,129.08	\$2,613.00	\$5,226.00		+
32 MANHOLE (J-8) (<10')	EA	4	\$7,385.27	\$29,541.08	\$5,242.84	\$20,971.36	\$4,285.00	\$17,140.00		
33 MANHOLE (J-8) (<10')(PARTIAL)	EA	2	\$10,596.24	\$21,192.48	\$1,358.25	\$2,716.50	\$1,450.00	\$2,900.00		+
34 MANHOLES (ADJUST)	EA	6	\$553.85	\$3,323.10	\$733.45	\$4,400.70	\$425.00	\$2,550.00		+
35 PIPE CULVERT OPTIONAL MATERIAL (S/CD)(ROUND)(18*)(RCP)	LF	1298	\$42.71	\$55,437.58	\$23.91	\$31,035.18	\$35.15	\$45,624.70		-
36 PIPE CULVERT OPTIONAL MATERIAL (S/CD)(ROUND)(24*)(RCP)	LF	847	\$53.06	\$44,941.82	\$38.03	\$32,211,41	\$46.80	\$39,639.60	~	
37 PIPE CULVERT OPTIONAL MATERIAL (S/CD)(ROUND)(30*)(RCP)	LF	329	\$72.96	\$24,003.84	\$53.24	\$17,515.96	\$59.30	\$19,509.70		
38 PIPE CULVERT OPTIONAL MATERIAL (S/CD)(ELLIP)(12"x18")(ERCP)	LF	9	\$285.92	\$2,573.28	\$27.00	\$243.00	\$148.50	\$1,336.50	··	
39 PIPE CULVERT OPTIONAL MATERIAL (S/CD)(ELLIP)(14*x23*)(ERCP)	LF	84	\$78.70	\$6,610.80	\$35.86	\$3,012.24	\$45.00	\$3,780.00		
40 PIPE CULVERT OPTIONAL MATERIAL (S/CD)(ELLIP)(29*x45*)(ERCP)	LF	308	\$112.95	\$34,788.60	\$176.54	\$54,374.32	\$105.30	\$32,432.40		1
41 PIPE CULVERT OPTIONAL MATERIAL (S/CD)(ELLIP)(53*x83*)(ERCP)	LF	95	\$628.09	\$59,668.55	\$755.19	\$71,743.05	\$287.00	\$27,265.00		
42 MITERED END SECTION (18* RCP SD) (INCLUDES RIP RAP)	EA	1	\$1,553.95	\$1,553.95	\$706.00	\$706.00	\$1,188.00	\$1,188.00		1
43 MITERED END SECTION (30° RCP SD) (INCLUDES RIP RAP)	EA	1	\$2,815.98	\$2,815.98	\$2,336.00	\$2,336.00	\$700.00	\$700.00		
44 MITERED END SECTION (OPT / ELLIP / ARCH) (29" X 45" ERCP) (INCLUDES RIP RAP)	EA	1	\$3,577.55	\$3,577.55	\$3,749.00	\$3,749.00	\$1,936.00	\$1,936.00		1
45 CROSSHOLE SONIC LOGGING	EA	2	\$1,759.96	\$3,519.92	\$1,738.56	\$3,477.12	\$1,600.00	\$3,200.00		1
46 PEDESTRIAN / BICYCLE RAILING (ALUMINUM, 42" PICKET RAILING)	LF	1269	\$43.55	\$55,264.95	\$31.51	\$39,986.19	\$29.00	\$36,801.00		
47 CONCRETE CURB AND GUTTER (TYPE F)	LF	5647	\$11.07	\$62,512.29	\$8.90	\$50,258.30	\$8.90	\$50,258.30		

Page 4 of 6

IFB # 12-1881-DS MANATEE PROJECT NO. 6040460

9TH STREET EAST / 53RD AVENUE EAST / 57TH AVENUE EAST

		01110111.221 27	01700115711	THOL LACT 7 ST					-	
				3	が自然を持つまで	国内の日本の日本の	4	经历代金的第三次	5	一世 一年 日 李華華 170 年 193
	BID "A" 340 CALENDAR DAYS			Woodruff & Sons, Inc. P.O. Box 10127 Bradenton, FL 34282-0127 (Manatee County)		QGS Site Development 17502 CR 572 Lithia, FL 33547 (Hillsborough County)		Cone & Graham, Inc. 5101 Cone Road Tampa, FL 33610 (Hillsborough County)		
ITEM	1000000000000000000000000000000000000	Suggest Seen Like	18 462 3515	Unit	Extended	Unit	Extended	Unit	Extended	を表現した。 を表現した。 を表現した。 を表現した。 のと、 のと、 のと、 のと、 のと、 のと、 のと、 のと、
No.	Line Item	Unit	Quantity	Price	Price	Price	Price	Price	Price	对外的企业,但是实现是不是自己的
48	CONCRETE CURB (TYPE D)	LF	312	\$10.35	\$3,229.20	\$13.90	\$4,336.80	\$12.00	\$3,744.00	
49	CONCRETE TRAFFIC SEPARATOR (TYPE IV, 4' WIDE)	LF	796	\$24.84	\$19,772.64	\$25.06	\$19,947.76	\$22.00	\$17,512.00	
50	CONCRETE SIDEWALK, 4" THICK	SY	3,040	\$29.09	\$88,433.60	\$31.96	\$97,158.40	\$22.00	\$66,880.00	
51	CONCRETE SIDEWALK, 6" THICK (DRIVEWAYS)	SY	704	\$42.17	\$29,687.68	\$40.83	\$28,744.32	\$27.00	\$19,008.00	
52	FENCE (TYPE B) (5.1'- 6' HEIGHT)	LF	1,057	\$11.55	\$12,208.35	\$11.95	\$12,631.15	\$11.00	\$11,627.00	
53	FENCE GATES (TYPE B)(DOUBLE)(20' OPENING)	EA	2	\$1,303.47	\$2,606.94	\$1,055.00	\$2,110.00	\$971.00	\$1,942.00	
54	DIRECTIONAL BORE (< 6°)	LF	96	\$12.65	\$1,214.40	\$12.50	\$1,200.00	\$11.50	\$1,104.00	
55	DIRECTIONAL BORE (6" to <12")	LF	325	\$25.02	\$8,131.50	\$24.72	\$8,034.00	\$22.75	\$7,393.75	
56	PERFORMANCE TURF, SOD	SY	10,470	\$4.05	\$42,403.50	\$2.11	\$22,091.70	\$3.00	\$31,410.00	
57	TIMING IMPLEMENTATION, CONTROLLER & COORDINATION UNIT	PI	1	\$527.99	\$527.99	\$521.57	\$521.57	\$480.00	\$480.00	
58	CONDUIT. SIGNAL (F&I) (ABOVE GROUND)	LF	36	\$14.48	\$520.56	\$14.29	\$514.44	\$13.15	\$473.40	
59	CONDUIT, SIGNAL (F&I) (UNDERGROUND)	LF	3,793	\$3.30	\$12,516.90	\$3.26	\$12,365.18	\$3.00	\$11,379.00	
60	CABLE, SIGNAL (F&I)	PI	1	\$8,931.80	\$8,931.80	\$8,823.00	\$8,823.00	\$8,120.00	\$8,120.00	
61	FIBERGLASS INSULATOR (F&I)	LF	100	\$19.63	\$1,963.00	\$19.40	\$1,940.00	\$18.00	\$1,800.00	
62	PULL AND JUNCTION BOXES (F&I) (PULL BOX)	EA	27	\$538.99	\$14,552.73	\$532.43	\$14,375.61	\$490.00	\$13,230.00	
63	SIGNALS, ELEC POWER SERV (UNDERGROUND)(PURCHASED BY CONTRACTOR)	AS	1	\$2,529.94	\$2,529.94	\$2,500.00	\$2,500.00	\$2,300.00	\$2,300.00	
64	SIGNALS, ELECTRICAL SERVICE WIRE (3 WIRE) (F&I)	LF	69	\$3.19	\$220.11	\$3.15	\$217.35	\$2.90	\$200.10	
65	MAST ARM ASSEM (F&I)(WS 130) (STEEL)(SINGLE ARM)(46')(BLACK)(W/O LUM)	EA	1	\$29,039.35	\$29,039.35	\$28,686.00	\$28,686.00	\$26,400.00	\$26,400.00	1
66	MAST ARM ASSEM (F&I) (WS 130) (STEEL) (SINGLE ARM) (70.5') (BLACK) (W/O LUM)	EA	1	\$34,869.22	\$34,869.22	\$34,445.00	\$34,445.00	\$31,700.00	\$31,700.00	
67	MAST ARM ASSEM (F&I) (WS 130) (STEEL) (SINGLE ARM) (60') (BLACK) (W/ LUM)	EA	2	\$31,404.30	\$62,808.60	\$31,022.00	\$62,044.00	\$28,550.00	\$57,100.00	
68	TRAFFIC SIGNAL (F&I) (3 SECT.,1-WAY,STANDARD) (LED)	AS	12	\$791.98	\$9,503.76	\$783.00	\$9,396.00	\$720.00	\$8,640.00	
69	PEDESTRIAN SIGNALS (F&I) (COUNTDOWN, 1-WAY)	AS	8	\$615.99	\$4,927.92	\$609.00	\$4,872.00	\$560.00	\$4,480.00	
70	SIGNAL HEAD AUXILIARIES (F&I) (ALUMINUM PEDESTAL)	EA	8	\$1,077.98	\$8,623.84	\$1,064.00	\$8,512.00	\$980.00	\$7,840.00	
71	VEHICLE DETECTOR ASSEMBLES (F&I) (VIDEO)	EA	5	\$7,138.84	\$35,694.20	\$7,053.00	\$35,265.00	\$6,490.00	\$32,450.00	
72	PED DETECTOR (F&I) (POLE OR CABINET MOUNTED DETECTOR STATION & SIGN)	EA	1	\$351.99	\$351.99	\$347.00	\$347.00	\$320.00	\$320.00	
73	PED DETECTOR (F&I)(DETECTOR WITH SIGN ONLY)	EA	7	\$187.00	\$1,309.00	\$185.00	\$1,295.00	\$170.00	\$1,190.00	
74	ACTUATED SOLID ST. CONTROLLER AS (NEMA)	AS	1	\$38,741.14	\$38,741.14	\$9,780.00	\$9,780.00	\$35,220.00	\$35,220.00	
75	REMOVE TRAFFIC SIGNAL HEAD ASSEMBLY	EA	10	\$35.20	\$352.00	\$34.77	\$347.70	\$32.00	\$320.00	
76	REMOVE PEDESTRIAN SIGNAL ASSEMBLY	EA	4	\$52.80	\$211,20	\$52.00	\$208.00	\$48.00	\$192.00	
77	SIGNAL PEDESTAL REMOVE	EA	2	\$82.50	\$165.00	\$82.00	\$164.00	\$75.00	\$150.00	
78	POLE REMOVAL (DEEP) (BOLT ON ATTACHMENT)	EA	4	\$714.98	\$2,859.92	\$706.00	\$2,824.00	\$650.00	\$2,600.00	
79	REMOVE CONTROLLER ASSEMBLY	EA	1	\$263.99	\$263.99	\$261.00	\$261.00	\$240.00	\$240.00	
80	REMOVE SPAN WIRE ASSEMBLY	EA	4	\$263.99	\$1,055.96	\$261.00	\$1,044.00	\$240.00	\$960.00	
81	REMOVE CABLING AND CONDUIT	PI	1	\$511.49	\$511.49	\$505.00	\$505.00	\$465.00	\$465.00	
82	REMOVAL MISCELLANEOUS SIGNAL EQUIPMENT	PI	1	\$351.99	\$351.99	\$348.00	\$348.00	\$320.00	\$320.00	
83	SIGN, INTERNALLY ILLUMINATED (F&I) (STREET NAME)	EA	4	\$4,289.90	\$17,159.60	\$4,237.00	\$16,948.00	\$3,900.00	\$15,600.00	
84	SIGN SINGLE POST (<12 SF)	AS	20	\$274.99	\$5,499.80	\$222.75	\$4,455.00	\$250.00	\$5,000.00	
85	SIGN EXISTING (RELOCATE, SINGLE POST)	AS	5	\$165.00	\$825.00	\$163.00	\$815.00	\$150.00	\$750.00	
86	SIGN EXISTING (REMOVE, SINGLE POST)	AS	8	\$27.50	\$220.00	\$27.00	\$216.00	\$25.00	\$200.00	
87	SIGN PANEL (F&I) (15 OR LESS SF)	EA	10	\$412.49	\$4,124.90	\$108.00	\$1,080.00	\$375.00	\$3,750.00	
88	RETRO-REFLECTIVE PAVEMENT MARKERS	EA	425	\$3.30	\$1,402.50	\$3.26	\$1,385.50	\$3.00	\$1,275.00	
89	REFLECTIVE PAINT (ISLAND NOSE) (YELLOW)	SF	38	\$6.60	\$250.80	\$0.82	\$31.16	\$2.00	\$76.00	
90	SOLID TRAFFIC STRIPE, THERMOPLASTIC (WHITE)(6")	NM	1.205	\$5.44	\$6.56	\$5,378.00	\$6,480.49	\$4,950.00	\$5,964.75	
91	SOLID TRAFFIC STRIPE, THERMOPLASTIC (WHITE)(12*)	LF	1,352	\$2.20	\$2,974.40	\$2.17	\$2,933.84	\$2.00	\$2,704.00	
92	SOLID TRAFFIC STRIPE, THERMOPLASTIC (WHITE)(24*)	LF	293	\$4.18	\$1,224.74	\$4.13	\$1,210.09	\$3.80	\$1,113.40	

Page 5 of 6

IFB # 12-1881-DS MANATEE PROJECT NO. 6040460

9TH STREET EAST / 53RD AVENUE EAST / 57TH AVENUE EAST

	· · · · · · · · · · · · · · · · · · ·	JIIJINEELE	-701 / JOHD AV		3	The state of the state of	on 4 hard Section 2001	Name and Address of the Owner, where the Owner, which the Owner, where the Owner, which the	5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5	
	BID "A" 340 CALENDAR DAYS		有關 後	Woodruft P.O. E Bradenton, (Manat	f & Sons, Inc. Box 10127 FL 34282-0127 tee County)	QGS S 17502 CR 672 FL 33547	Ite Development Lithia, (Hillsborough County)	510 Tam (Hillsbe	& Graham, Inc. I Cone Road pa, FL 33610 orough County)	
ITEM	CONTROL OF THE PROPERTY OF THE	高 经济地位	SECTION OF	Unit	Extended	Unit	Extended	Unit	Extended	
No.	Line Item	Unit	Quantity	Price	Price	Price	Price	Price	Price	全国政治院 网络美国西部政治
93	SKIP TRAFFIC STRIPE, THERMOPLASTIC (WHITE) (6") (10'-30" SKIP)	GM	0.924	\$1,567.47		\$1,548.00	\$1,430.35	\$1,425.00	\$1,316.70	
94	SKIP TRAFFIC STRIPE, THERMOPLASTIC (WHITE) (6") (2'-4" SKIP)	LF	553	\$1.10		\$1.09	\$602.77	\$1.00		
95	PAVEMENT MESSAGES, THERMOPLASTIC (WHITE)	EA	16	\$110.00		\$108.00	\$1,728.00	\$100.00		
96	DIRECTIONAL ARROWS, THERMOPLASTIC (WHITE)	EA	44	\$66.00		\$65.20	\$2,868.80	\$60.00		
97	SOLID TRAFFIC STRIPE, THERMOPLASTIC (YELLOW) (6")	NM	1.012	\$5.44		\$5,379.00	\$5,443.55	\$4,950.00		
98	SOLID TRAFFIC STRIPE, THERMOPLASTIC (YELLOW) (18")	LF	42	\$3.19		\$3.15	\$132.30	\$2.90		
99	SKIP TRAFFIC STRIPE, THERMOPLASTIC (YELLOW) (6") (10"-30" SKIP)	GM	0.441	\$1,567.47		\$1,548.00	\$682.67	\$1,425.00		
100	LUMINAIRE & BRACKET ARM	EA	2	\$912.98		\$902.00	\$1,804.00	\$830.00		
101	ITS ELECTRICAL POWER, F&I, SERVICE WIRE	LF	36	\$2.47		\$2.44	\$87.84	\$2.25		
102	ITS CONDUIT, F&I, UNDERGROUND	LF	12	\$6.16		\$6.09	\$73.08	\$5.60		
103	ITS PULL & JUNCTION BOX, F&I	EA	1	\$1,154.97		\$1,141.00	\$1,141.00	\$1,050.00		
104	ALUMINUM SHEET PILE	LF	206	\$332.74		\$304.83	\$62,794.98	\$302.00		
	DISCRETIONARY WORK				\$100,000.00	3 20 20 11 1	\$100,000.00	Selection of the select	\$100,000.00	
	ROADWAY SUBTOTAL				\$2,742,588.39		\$3,136,589.84		\$3,070,838.93	
	FORCEMAIN									
105	UTILITY PIPE (4" PVC)	LF	1,280	\$13.05	\$16,704.00	\$16.30	\$20,864.00	\$11.70	\$14,976.00	
106	VALVE ASSEMBLY (F&I)(CAST IRON)(GATE)(150PSI)(4*)(FM)	EA	1,200	\$1,284.64		\$1,059.00	\$1,059.00	\$960.00		
107	CONNECTION TO EXISTING SYSTEM	EA	2	\$2,585.56		\$814.95	\$1,629.90	\$980.00		
107	DISCRETIONARY WORK			92,000.00	\$6,000.00	\$014.00	\$6,000.00	\$500.00	\$6,000.00	
	FORCEMAIN SUBTOTAL				\$29,159.76		\$29,552.90		\$23,896.00	
	WATERMAIN			*****						
108	UTILITY PIPE (6" PVC)	LF	1,342	\$21.34		\$20.10	\$26,974.20	\$19.15		
109	UTILITY PIPE (6" DI)	LF	170	\$33.63		\$53.95	\$9,171.50	\$28.40		
110	VALVE ASSEMBLY (F&I)(CAST IRON)(GATE)(150PSI)(6")(WM)	EA	3	\$1,300.11		\$1,304.00	\$3,912.00	\$1,104.00		
111	UTILITY FIXTURES RELOCATE (WATER METERS)	EA	2	\$998.17	The second secon	\$543.00	\$1,086.00	\$567.00		
112	UTILITY FIXTURES ADJUST	EA	55	\$1,720.57		\$163.00	\$815.00	\$320.00		
113	FIRE HYDRANT	EA	3	\$4,440.13		\$5,596.00	\$16,788.00	\$4,614.00		
114	6" BACKFLOW PREVENTER (RELOCATE)	EA	11	\$4,806.61		\$2,716.00	\$2,716.00	\$2,740.00		
115	2" WATER METER/BACKFLOW PREVENTER (RELOCATE)	EA	2	\$2,584.75	401.00.00	\$1,304.00	\$2,608.00	\$1,455.00		
116	CONNECTION TO EXISTING SYSTEM	EA	2	\$1,691.00		\$1,901.00	\$3,802.00	\$1,605.00		
117	CUT & CAP EXISTING WATER MAIN	EA	11_	\$1,470.95		\$135.82	\$135.82	\$425.00		
	DISCRETIONARY WORK			SCHOOL BOXES	\$10,000.00	AND ALL SOURCE	\$10,000.00		\$10,000.00	
	WATERMAIN SUBTOTAL				\$87,004.35		\$78,008.52		\$69,700.30	
	TOTAL BID PRICE "B"	4		ALVALIA SI	\$2,858,752.50	75 KE 1045	\$3,244,151.26	CARGOST	\$3,164,435.23	
100000	Acknowledged Addendum #1	S11151576	· · · · · · · · · · · · · · · · · · ·		Yes		Yes		Yes	
	Florida Trench Safety Act	格里德里曼			Yes		Yes		Yes	
Section 1	Contractor's Questionnaire	AND DESCRIPTION	Company of the Company		Yes		Yes		Yes	
60 32 32	Contractor's License	100000000000000000000000000000000000000	CONTRACTOR OF THE		29 Years	CG	C - 21 Years	CG	C - 33 Years	
20003454	Public Contracting & Environmental Crimes	The state of the same	Colonia Salah		Yes		Yes	Yes		
200	Affidavit for Local Business (if applicable)	10 Sept. 100 Sep			No		No		No	
Ser miles	Bld Bond	200000000000000000000000000000000000000	SERVICE STATE		ers Check		Yes		Yes	
	Notes:				atical Errors		ematical Error		N/A	

Page 6 of 6

BID TABULATION

FOR

IFB # 12-1881-DS

MANATEE PROJECT NO. 6040460 9TH STREET EAST / 53RD AVENUE EAST / 57TH AVENUE EAST

BID "A"
BASED ON A COMPLETION TIME OF 340 CALENDAR DAYS

PREPARED BY:	SUIFIEL	1/15/13
(Project Engineer)	John E. Howle, P.E., Vice President of Engineering	Date
REVIEWED BY:	Egra Cesh	1/14/13
(Project Management)	Eyra Cash, 9 roject Manager	Date
APPROVED BY:	Omna Steven	117/13
(Purchasing)	Donna Stevens, Contract Specialist	Date

MANATEE PROJECT NO. 6040460

9TH STREET EAST / 53RD AVENUE EAST / 57TH AVENUE EAST

				1. 45 M. 5. W. 12 W.	150,54(35),45	新文学是4度全部	2	
	BID "B" 280 CALENDAR DAYS			2704 105th Palmetto	ting & Paving In Street East In FL 34221 In County)	Superior Asphalt P.O. Box 2489 Oneco, FL 34264 (Manatee County)		
ITEM		尼外路日本	经验证证明	Unit	Extended	Unit	Extended	
No.	Line Item	Unit	Quantity	Price	Price	Price	Price	
1	MOBILIZATION	LS	1	\$136,000.00	\$136,000.00	\$308,900.00	\$308,900.00	
2	MAINTENANCE OF TRAFFIC	LS	1	\$88,800.00	\$88,800.00	\$212,140.00	\$212,140.00	
3	COMMERCIAL MATERIALS FOR DRIVEWAY MAINT	CY	250	\$40.00	\$10,000.00	\$35.45	\$8,862.50	
4	SEDIMENT BARRIER	LF	6366	\$0.80	\$5,092.80	\$1.85	\$11,777.10	
5	FLOATING TURBIDITY BARRIER	LF	80	\$10.00	\$800.00	\$20.40	\$1,632.00	
6	SOIL TRACKING PREVENTION DEVICE	EA	2	\$1,500.00	\$3,000.00	\$5,145.00	\$10,290.00	
7	INLET PROTECTION SYSTEM	EA	34	\$60.00	\$2,040.00	\$216.00	\$7,344.00	
8	CLEARING AND GRUBBING	LS	1	\$108,900.00	\$108,900.00	\$39,500.00	\$39,500.00	
9	REMOVAL OF EXISTING PAVEMENT (CONCRETE)	SY	1238	\$6.00	\$7,428.00	\$7.25	\$8,975.50	
10	MAIL BOX (FURNISH AND INSTALL)	EA	8	\$175.00	\$1,400.00	\$216.00	\$1,728.00	
11	REGULAR EXCAVATION	CY	17519	\$5.50	\$96,354.50	\$4.50	\$78,835.50	
12	SUBSOIL EXCAVATION	CY	3486	\$9.00	\$31,374.00	\$10.60	\$36,951.60	
13	EMBANKMENT	CY	6182	\$3.20	\$19,782.40	\$4.00	\$24,728.00	
14	TYPE B STABILIZATION	SY	22486	\$2.85	\$64,085.10	\$4.65	\$104,559.90	
	OPTIONAL BASE GROUP 6(8" CEMENT TREATED SHELL)(LBR 100) or 8" CRUSHED CONCRETE or 5"							
15	ASPHALT BASE COURSE (ABC) or TYPE B-12.5 (Addendum #1)	SY	20902	\$14.00	\$292,628.00	\$9.45	\$197,523.90	
16	MILLING EXISTING ASPHALT PAVEMENT (3" AVERAGE DEPTH)	SY	2100	\$3.70	\$7,770.00	\$5.35	\$11,235.00	
17	TYPE S ASPHALTIC CONCRETE	TN	3499	\$84.00	\$293,916.00	\$78.35	\$274,146.65	
18	SUPERPAVE ASPHALTIC CONCRETE, TRAFFIC C	TN	174	\$100.00	\$17,400.00	\$119.00	\$20,706.00	
19	ASPHALTIC CONCRETE FRICTION COURSE (INC BIT)(FC-3)	TN	1171	\$125.00	\$146,375.00	\$102.50	\$120,027.50	
20	ASPHALTIC CONCRETE FRICTION COURSE (TRAFFIC C)(INC PG 67-22)(FC-12.5)	TN	174	\$120.00	\$20,880.00	\$136.80	\$23,803.20	
21	CLASS NS CONCRETE (GRAVITY WALL)	CY	178	\$600.00	\$106,800.00	\$275.00	\$48,950.00	
22	CLASS I CONCRETE (ENDWALLS)	CY	28.33	\$750.00	\$21,247.50	\$685.00	\$19,406.05	
23	INLETS (CURB TYPE P-1) (<10)	EA	1	\$2,810.00	\$2,810.00	\$12,860.00	\$12,860.00	
24	INLETS (CURB TYPE P-5) (<10)	EA	8	\$2,560.00	\$20,480.00	\$2,890.00	\$23,120.00	
25	INLETS (CURB TYPE P-5) (MODIFIED)(<10)	EA	3	\$11,360.00	\$34,080.00	\$10,600.00	\$31,800.00	
26	INLETS (CURB TYPE P-6) (<10')	EA	5	\$2,930.00	\$14,650.00	\$3,255.00	\$16,275.00	
27	INLETS (CURB TYPE P-6) (MODIFIED)(<10)	EA	1	\$11,260.00	\$11,260.00	\$10,765.00	\$10,765.00	
28	INLETS (CURB TYPE J-5) (<10)	EA	2	\$3,715.00	\$7,430.00	\$4,470.00	\$8,940.00	
29	INLETS (DITCH BOTTOM TYPE "C")(<10")	EA	1	\$1,365.00	\$1,365.00	\$4,135.00	\$4,135.00	
30	INLETS (DITCH BOTTOM TYPE "D")(<10')(MODIFIED)	EA	2	\$4,170.00	\$8,340.00	\$4,560.00	\$9,120.00	
31	MANHOLE (P-8) (<10')	EA	2	\$1,835.00	\$3,670.00	\$2,390.00	\$4,780.00	
32	MANHOLE (J-8) (<10')	EA	4	\$3,230.00	\$12,920.00	\$7,055.00	\$28,220.00	
33	MANHOLE (J-8) (<10')(PARTIAL)	EA	2	\$1,615.00	\$3,230.00	\$10,600.00	\$21,200.00	
34	MANHOLES (ADJUST)	EA	6	\$365.00	\$2,190.00	\$525.00	\$3,150.00	
35	PIPE CULVERT OPTIONAL MATERIAL (S/CD)(ROUND)(18*)(RCP)	LF	1298	\$33.00	\$42,834.00	\$40.95	\$53,153.10	
36	PIPE CULVERT OPTIONAL MATERIAL (S/CD)(ROUND)(24*)(RCP)	LF	847	\$42.00	\$35,574.00	\$51.35	\$43,493.45	
37	PIPE CULVERT OPTIONAL MATERIAL (S/CD)(ROUND)(30*)(RCP)	LF	329	\$60.00	\$19,740.00	\$70.75	\$23,276.75	
38	PIPE CULVERT OPTIONAL MATERIAL (S/CD)(ELLIP)(12"x18")(ERCP)	LF	9	\$170.00	\$1,530.00	\$266.00	\$2,394.00	
39	PIPE CULVERT OPTIONAL MATERIAL (S/CD)(ELLIP)(14"x23")(ERCP)	LF	84	\$55.00	\$4,620.00	\$75.00	\$6,300.00	
40	PIPE CULVERT OPTIONAL MATERIAL (S/CD)(ELLIP)(29*x45")(ERCP)	LF	308	\$106.00	\$32,648.00	\$111.35	\$34,295.80	
41	PIPE CULVERT OPTIONAL MATERIAL (S/CD)(ELLIP)(53"x83")(ERCP)	LF	95	\$285.00	\$27,075.00	\$634.00	\$60,230.00	
42	MITERED END SECTION (18* RCP SD) (INCLUDES RIP RAP)	EA	1	\$1,330.00	\$1,330.00	\$1,460.00	\$1,460.00	
43	MITERED END SECTION (30" RCP SD) (INCLUDES RIP RAP)	EA	1	\$1,930.00	\$1,930.00	\$2,670.00	\$2,670.00	
44	MITERED END SECTION (OPT / ELLIP / ARCH) (29" X 45" ERCP) (INCLUDES RIP RAP)	EA	1	\$4,700.00	\$4,700.00	\$3,440.00	\$3,440.00	
45	CROSSHOLE SONIC LOGGING	EA	2	\$1,750.00	\$3,500.00	\$1,685.00	\$3,370.00	
46	PEDESTRIAN / BICYCLE RAILING (ALUMINUM, 42" PICKET RAILING)	LF	1269	\$38.00	\$48,222.00	\$35.30	\$44,795.70	
47	CONCRETE CURB AND GUTTER (TYPE F)	LF	5647	\$11.00	\$62,117.00	\$9.45	\$53,364.15	

Page 1 of 6

				PLANT SELECTION OF THE PARTY OF	1年20日至10日日	2 2		
	BID "B" 280 CALENDAR DAYS	2704 105t Palmette	ding & Paving h Street East o, FL 34221 ee County)	Superior Asphalt P.O. Box 2489 Oneco, FL 34264 (Manatee County)				
TEM No.	Line Item	Unit	Quantity	Unit Price	Extended Price	Unit Price	Extended Price	
48	CONCRETE CURB (TYPE D)	LF	312	\$10.00	\$3,120.00	\$10.55	\$3,291.60	
49	CONCRETE TRAFFIC SEPARATOR (TYPE IV, 4' WIDE)	LF LF	796	\$23.00	\$18,308.00	\$24.85	\$19,780.60	
50	CONCRETE SIDEWALK, 4" THICK	SY	3,040	\$28.00	\$85,120.00	\$20.55	\$62,472.00	
51	CONCRETE SIDEWALK, 6" THICK (DRIVEWAYS)	SY	704	\$38.00	\$26,752.00	\$27.35	\$19,254.40	
52	FENCE (TYPE B) (5.1'- 6' HEIGHT)	LF	1,057	\$12.00	\$12,684.00	\$11.05	\$11,679.85	
53	FENCE GATES (TYPE B)(DOUBLE)(20' OPENING)	EA EA	2	\$1,300.00	\$2,600.00	\$1,245.00	\$2,490.00	
54	DIRECTIONAL BORE (< 6")	LF LF	96	\$13.00	\$1,248.00	\$12.10	\$1,161.60	
55	DIRECTIONAL BORE (6" to <12")	- IF	325	\$25.00	\$8,125.00	\$24.00	\$7,800.00	
56	PERFORMANCE TURF, SOD	SY	10,470	\$1.75	\$18,322,50	\$2.92	\$30,572.40	
57	TIMING IMPLEMENTATION, CONTROLLER & COORDINATION UNIT	PI	1	\$525.00	\$525.00	\$505.00	\$505.00	
58	CONDUIT, SIGNAL (F&I) (ABOVE GROUND)	LF	36	\$15.00	\$540.00	\$13.85	\$498.60	
59	CONDUIT, SIGNAL (F&I) (UNDERGROUND)	LF	3,793	\$3.30	\$12,516.90	\$3.15	\$11,947.95	
60	CABLE, SIGNAL (F&I)	PI	1	\$8,900.00	\$8,900.00	\$8,550.00	\$8,550.00	
61	FIBERGLASS INSULATOR (F&I)	LF	100	\$20.00	\$2,000.00	\$18.80	\$1,880.00	
62	PULL AND JUNCTION BOXES (F&I) (PULL BOX)	EA	27	\$535.00	\$14,445.00	\$518.00	\$13,932.00	
63	SIGNALS, ELEC POWER SERV (UNDERGROUND)(PURCHASED BY CONTRACTOR)	AS	1	\$2,500.00	\$2,500.00	\$2,420.00	\$2,420.00	
64	SIGNALS, ELECTRICAL SERVICE WIRE (3 WIRE) (F&I)	LF	69	\$3.20	\$220.80	\$3.05	\$210.45	
65	MAST ARM ASSEM (F&I)(WS 130) (STEEL)(SINGLE ARM)(46')(BLACK)(W/O LUM)	EA	1	\$28,900.00	\$28,900.00	\$27,790.00	\$27,790.00	
66	MAST ARM ASSEM (F&I) (WS 130) (STEEL) (SINGLE ARM) (70.5') (BLACK) (W/O LUM)	EA	1	\$34,700.00	\$34,700.00	\$33,370.00	\$33,370.00	
67	MAST ARM ASSEM (F&I) (WS 130) (STEEL) (SINGLE ARM) (60') (BLACK) (W/ LUM)	EA	2	\$31,000.00	\$62,000.00	\$30,055.00	\$60,110.00	
68	TRAFFIC SIGNAL (F&I) (3 SECT.,1-WAY,STANDARD) (LED)	AS	12	\$790.00	\$9,480.00	\$758.00	\$9,096.00	
69	PEDESTRIAN SIGNALS (F&I) (COUNTDOWN, 1-WAY)	AS	8	\$620.00	\$4,960.00	\$590.00	\$4,720.00	
70	SIGNAL HEAD AUXILIARIES (F&I) (ALUMINUM PEDESTAL)	EA	8	\$1,100.00	\$8,800.00	\$1,030.00	\$8,240.00	
71	VEHICLE DETECTOR ASSEMBLES (F&I) (VIDEO)	EA	5	\$7,100.00	\$35,500.00	\$6,830.00	\$34,150.00	
72	PED DETECTOR (F&I) (POLE OR CABINET MOUNTED DETECTOR STATION & SIGN)	EA	1	\$350.00	\$350.00	\$337.00	\$337.00	
73	PED DETECTOR (F&I)(DETECTOR WITH SIGN ONLY)	EA	7	\$185.00	\$1,295.00	\$179.00	\$1,253.00	
74	ACTUATED SOLID ST. CONTROLLER AS (NEMA)	AS	1	\$38,500.00	\$38,500.00	\$37,100.00	\$37,100.00	
75	REMOVE TRAFFIC SIGNAL HEAD ASSEMBLY	EA	10	\$35.00	\$350.00	\$33.70	\$337.00	
76	REMOVE PEDESTRIAN SIGNAL ASSEMBLY	EA	4	\$50.00	\$200.00	\$50.55	\$202.20	
77	SIGNAL PEDESTAL REMOVE	EA	2	\$82.00	\$164.00	\$78.95	\$157.90	
78	POLE REMOVAL (DEEP) (BOLT ON ATTACHMENT)	EA	4	\$710.00	\$2,840.00	\$685.00	\$2,740.00	
79	REMOVE CONTROLLER ASSEMBLY	EA	1	\$265.00	\$265.00	\$252.00	\$252.00	
80	REMOVE SPAN WIRE ASSEMBLY	EA	4	\$265.00	\$1,060.00	\$253.00	\$1,012.00	
81	REMOVE CABLING AND CONDUIT	PI	1	\$508.00	\$508.00	\$490.00	\$490.00	
82	REMOVAL MISCELLANEOUS SIGNAL EQUIPMENT	PI	1	\$350.00	\$350.00	\$337.00	\$337.00	
83	SIGN, INTERNALLY ILLUMINATED (F&I) (STREET NAME)	EA	4	\$4,265.00	\$17,060.00	\$4,105.00	\$16,420.00	
84	SIGN SINGLE POST (<12 SF)	AS	20	\$275.00	\$5,500.00	\$265.00	\$5,300.00	
85	SIGN EXISTING (RELOCATE, SINGLE POST)	AS	5	\$165.00	\$825.00	\$158.00	\$790.00	
86	SIGN EXISTING (REMOVE, SINGLE POST)	AS	8	\$28.00	\$224.00	\$26.35	\$210.80	
87	SIGN PANEL (F&I) (15 OR LESS SF)	EA	10	\$410.00	\$4,100.00	\$395.00	\$3,950.00	
88	RETRO-REFLECTIVE PAVEMENT MARKERS	EA	425	\$3.50	\$1,487.50	\$3.15	\$1,338.75	
89	REFLECTIVE PAINT (ISLAND NOSE) (YELLOW)	SF	38	\$5.50	\$209.00	\$3.17	\$120.46	
90	SOLID TRAFFIC STRIPE, THERMOPLASTIC (WHITE)(6")	NM	1.205	\$5,415.00	\$6,525.08	\$5,210.00	\$6,278.05	
91	SOLID TRAFFIC STRIPE, THERMOPLASTIC (WHITE)(12")	LF	1,352	\$2.00	\$2,704.00	\$2.10	\$2,839.20	
92	SOLID TRAFFIC STRIPE, THERMOPLASTIC (WHITE)(24*)	LF	293	\$4.00	\$1,172.00	\$4.00	\$1,172.00	

Page 2 of 6

				。共和軍的	1 - 1 - 1	學的學科學	He Zanna And St. (1)	
	BID "B" 280 CALENDAR DAYS			2704 10 Pairne	rading & Paving 15th Street East atto, FL 34221 atte County)	Superior Asphalt P.O. Box 2489 Oneco, FL 34264 (Manatee County)		
No.	Line item	Unit	Quantity	Unit Price	Extended. Price	Unit Price	Extended Price	
93	SKIP TRAFFIC STRIPE, THERMOPLASTIC (WHITE) (6") (10'-30' SKIP)	GM	0.924	\$1,580.00	\$1,441.44	\$1,500.00	\$1,386.00	
94	SKIP TRAFFIC STRIPE, THERMOPLASTIC (WHITE) (6") (2'-4' SKIP)	LF	553	\$1.00	\$553.00	\$1.05	\$580.65	
95	PAVEMENT MESSAGES, THERMOPLASTIC (WHITE)	EA	16	\$109.00	\$1,744.00	\$106.00	\$1,696.00	
96	DIRECTIONAL ARROWS, THERMOPLASTIC (WHITE)	EA	44	\$65.00	\$2,860.00	\$64.00	\$2,816.00	
97	SOLID TRAFFIC STRIPE, THERMOPLASTIC (YELLOW) (6")	NM	1.012	\$5,415.00	\$5,479.98	\$5,210.00	\$5,272.52	
	SOLID TRAFFIC STRIPE, THERMOPLASTIC (YELLOW) (18")	LF	42	\$3.00	\$126.00	\$3.05	\$128.10	
	SKIP TRAFFIC STRIPE, THERMOPLASTIC (YELLOW) (6") (10"-30" SKIP)	GM	0.441	\$1,560.00	\$687.96	\$1,500.00	\$661.50	
	LUMINAIRE & BRACKET ARM	EA	2	\$905.00	\$1,810.00	\$875.00	\$1,750.00	
	ITS ELECTRICAL POWER, F&I, SERVICE WIRE	LF	36	\$2.50	\$90.00	\$2.40	\$86.40	
102	ITS CONDUIT, F&I, UNDERGROUND	LF	12	\$6.00	\$72.00	\$5.90	\$70.80	
	ITS PULL & JUNCTION BOX, F&I	EA	1	\$1,150.00	\$1,150.00	\$1,105.00	\$1,105.00	
	ALUMINUM SHEET PILE	LF	206	\$660.00	\$135,960.00	\$320.00	\$65,920.00	
104	DISCRETIONARY WORK	LS	1	3000.00	\$100,000.00	\$320.00	\$100,000.00	
	ROADWAY SUBTOTAL	1 13	<u> </u>		\$2,630,248,46		\$2,718,663,13	
	ROADWAT SUBTUTAL	 			\$2,630,248.46		32,718,863,13	
	FORCEMAIN							
105	UTILITY PIPE (4" PVC)	LF	1,280	\$8.00	\$10,240.00	\$12.55	\$16,064.00	
106	VALVE ASSEMBLY (F&I)(CAST IRON)(GATE)(150PSI)(4")(FM)	EA	11	\$840.00	\$840.00	\$1,270.00	\$1,270.00	
107	CONNECTION TO EXISTING SYSTEM	EA	2	\$1,830.00	\$3,860.00	\$2,405.00	\$4,810.00	
	DISCRETIONARY WORK	LS	1 1		\$6,000.00		\$6,000.00	
	FORCEMAIN SUBTOTAL	ļ	 		\$20,740.00		\$28,144.00	
	WATERMAIN							
108	UTILITY PIPE (6" PVC)	LF	1,342	\$14.00	\$18,788.00	\$20.80	\$27,913.60	
109	UTILITY PIPE (6" DI)	LF	170	\$30.00	\$5,100.00	\$33.30	\$5,661.00	
110	VALVE ASSEMBLY (F&I)(CAST IRON)(GATE)(150PSI)(6")(WM)	EA	3	\$1,330.00	\$3,990.00	\$1,315.00	\$3,945.00	
111	UTILITY FIXTURES RELOCATE (WATER METERS)	EA	2	\$490.00	\$980.00	\$925.00	\$1,850.00	
112	UTILITY FIXTURES ADJUST	EA	5	\$625.00	\$3,125.00	\$1,620.00	\$8,100.00	
	FIRE HYDRANT	EA	3	\$4,265.00	\$12,795.00	\$4,515.00	\$13,545.00	
	6" BACKFLOW PREVENTER (RELOCATE)	EA	1	\$845.00	\$845.00	\$4,475.00	\$4,475.00	
	2" WATER METER/BACKFLOW PREVENTER (RELOCATE)	EA	2	\$1,260.00	\$2,520.00	\$2,440.00	\$4,880.00	
116	CONNECTION TO EXISTING SYSTEM	EA	2	\$1,275.00	\$2,550.00	\$1,585.00	\$3,170.00	
117	CUT & CAP EXISTING WATER MAIN	EA	11	\$591.06	\$591.06	\$1,355.00	\$1,355.00	
	DISCRETIONARY WORK	LS	1	STATE OF THE SECOND	\$10,000.00		\$10,000.00	
	WATERMAIN SUBTOTAL	ļ			\$61,284.06		\$84,894.60	
	TOTAL BID PRICE "B"	Latrest P	15.0 - 16.50 N	550 7757 E.	\$2,712,272.52	(F-6) 2 5 5 5	\$2,831,701,73	
C 3 (1888)	Acknowledged Addendum #1	Market Market			Yes		Yes	
13 65 63 65	Florida Trench Safety Act	Manager 1988	and the state of		Yos		Yes	
學學的問題	Contractor's Questionnaire	PACIFICATION			Yes		Yes	
e m	Contractor's License	The Manual Control		CGC	C - 18 Years	FDQT Qua	lification - 8 Years	
10 00 38%	Public Contracting & Environmental Crimes	300 (5) (5) (6) (7)	SECTION STATES		Yes		Yes	
Vand Barrie	Affidavit for Local Business (if applicable)	100	10年10年10年10年10日		Yes		Yes	
CHARLES	Bid Bond	(SA) 192 SA	NAME OF THE OWNER.		Yes		Yes	
(A) (1) (A) (A)		7550000	MESTICAL SHAPE					
True 3341	Notes:	100 K D R 100 K	SOUR CONTRACTOR		N/A	and the second s	N/A	

Page 3 of 6

MANATEE PROJECT NO. 6040460 9TH STREET EAST / 53RD AVENUE EAST / 57TH AVENUE EAST

			3	德国的产生 的利	图 2000年至41年4月4日		5	从中的 中国	Charles Lines	1000年代月 4000
BID "B" 280 CALENDAR DAYS			Woodruff & Sons, Inc. P.O. Box 10127 Bradenton, FL 34282-0127 (Manatee County)		QGS Site Development 17502 CR 672 Lithia, FL 33547 (Hillsborough County)		Cone & Graham, Inc. 5101 Cone Road Tampa, FL 33810 (Hillsborough County)			
No. Line item	Unit	Quantity	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price		THE STATE OF
1 MOBILIZATION	LS	1	\$215,917,84	\$215,917.84		\$301,879.00	\$320,000.00			
2 MAINTENANCE OF TRAFFIC	LS	1 1	\$112,088.31	\$112,088.31		\$135,642.00	\$180,000.00			
3 COMMERCIAL MATERIALS FOR DRIVEWAY MAINT	CY	250	\$37.10	\$9,275.00	\$53.64	\$13,410.00	\$15.00			
4 SEDIMENT BARRIER	LF	6366	\$1.37	\$8,721.42	\$1.07	\$6,811.62	\$1.00			†
5 FLOATING TURBIDITY BARRIER	LF	80	\$12.59	\$1,007.20	\$10.00	\$800.00	\$7.50			
6 SOIL TRACKING PREVENTION DEVICE	EA	2	\$2,029.63	\$4,059.26	\$2,621.00	\$5,242.00	\$2,000.00			<u> </u>
7 INLET PROTECTION SYSTEM	EA	34	\$82.65	\$2,810.10	\$78.43	\$2,666.62	\$70.00			
8 CLEARING AND GRUBBING	LS	1	\$38,494.91	\$38,494.91	\$247,692.00	\$247,692.00	\$360,000,00			
9 REMOVAL OF EXISTING PAVEMENT (CONCRETE)	SY	1238	\$6.06	\$7,502.28	\$20.82	\$25,775.16	\$5.00			
10 MAIL BOX (FURNISH AND INSTALL)	EA	8	\$183.61	\$1,468.88	\$163.00	\$1,304.00	\$90.00			
11 REGULAR EXCAVATION	CY	17519	\$2.77	\$48,527.63	\$22,74	\$398,382.06	\$7.50			
12 SUBSOIL EXCAVATION	CY	3486	\$10.10	\$35,208.60	\$17.35	\$60,482.10	\$17.00			
13 EMBANKMENT	CY	6182	\$3.81	\$23,553.42	\$1.16	\$7,171.12	\$8.50			
14 TYPE B STABILIZATION	SY	22486	\$4.50	\$101,187.00	\$3.24	\$72,854.64	\$8.00			
OPTIONAL BASE GROUP 6(8" CEMENT TREATED SHELL)(LBR 100) or 8" CRUSHED CONCRETE or 5"				7.0.11.0	¥3.21	#/E 00 10	40.00	\$175,000.00		
15 ASPHALT BASE COURSE (ABC) or TYPE B-12.5 (Addendum #1)	SY	20902	\$9.05	\$189,163.10	\$10.33	\$215,917.66	\$15.00	\$313,530.00		1
16 MILLING EXISTING ASPHALT PAVEMENT (3° AVERAGE DEPTH)	SY	2100	\$5.35	\$11,235.00	\$4.60	\$9,660.00	\$3.55			
17 TYPE'S ASPHALTIC CONCRETE	TN	3499	\$101.58	\$355,428.42	\$84.54	\$295,805.46	\$77.80			
18 SUPERPAVE ASPHALTIC CONCRETE, TRAFFIC C	TN	174	\$145.97	\$25,398.78	\$128.22	\$22,310.28	\$118.00			
19 ASPHALTIC CONCRETE FRICTION COURSE (INC BIT)(FC-3)	TN	1171	\$130.97	\$153,365.87	\$110.18	\$129,020.78	\$101.40			
20 ASPHALTIC CONCRETE FRICTION COURSE (TRAFFIC C)(INC PG 67-22)(FC-12.5)	TN	174	\$166.91	\$29,042.34	\$146.47	\$25,485.78	\$134.80			
21 CLASS NS CONCRETE (GRAVITY WALL)	CY	178	\$659.97	\$117,474.66	\$411.44	\$73,236.32	\$590.00			
22 CLASS I CONCRETE (ENDWALLS)	CY	28.33	\$821.97	\$23,286.41	\$486.40	\$13,779.71	\$750.00			
23 INLETS (CURB TYPE P-1) (<10)	EA	1	\$12,975.89	\$12,975.89	\$1,945.00	\$1,945.00	\$3,460.00			
24 INLETS (CURB TYPE P-5) (<10)	EA	8	\$2,958.92	\$23,671.36	\$2,770.83	\$22,166.64	\$3,032.00			
25 INLETS (CURB TYPE P-5) (MODIFIED)(<10)	EA	3	\$10,602.52	\$31,807.56	\$4,210.57	\$12,631.71	\$2,646.00			
26 INLETS (CURB TYPE P-6) (<10')	EA	5	\$3,311.30	\$16,556.50	\$3,368.46	\$16,842.30	\$3,050.00	\$15,250.00		
27 INLETS (CURB TYPE P-6) (MODIFIED)(<10)	EA	1	\$10,790.37	\$10,790.37	\$3,124.00	\$3,124.00	\$3,288.00			1
28 INLETS (CURB TYPE J-5) (<10)	EA	2	\$4,547.29	\$9,094.58	\$4,672.38	\$9,344.76	\$4,149.00	\$8,298.00		
29 INLETS (DITCH BOTTOM TYPE *C*)(<10')	EA	1	\$4,114.99	\$4,114.99	\$1,158.31	\$1,158.31	\$1,982.00	\$1,982.00		
30 INLETS (DITCH BOTTOM TYPE "D")(<10')(MODIFIED)	EA	2	\$4,534.99	\$9,069.98	\$4,492.00	\$8,984.00	\$3,510.00	\$7,020.00		
31 MANHOLE (P-8) (<10')	EA	2	\$2,472.83	\$4,945.66	\$2,064.54	\$4,129.08	\$2,613.00	\$5,226.00		
32 MANHOLE (J-8) (<10')	EA	4	\$7,385.27	\$29,541.08	\$5,242.84	\$20,971.36	\$4,285.00	\$17,140.00		
33 MANHOLE (J-8) (<10')(PARTIAL)	EA	2	\$10,596.24	\$21,192.48	\$1,358.25	\$2,716.50	\$1,450.00	\$2,900.00		
34 MANHOLES (ADJUST)	EA	6	\$553.85	\$3,323.10	\$733.45	\$4,400.70	\$425.00	\$2,550.00		
35 PIPE CULVERT OPTIONAL MATERIAL (S/CD)(ROUND)(18*)(RCP)	LF	1298	\$42.71	\$55,437.58	\$23.91	\$31,035.18	\$35.15	\$45,624.70		
36 PIPE CULVERT OPTIONAL MATERIAL (S/CD)(ROUND)(24*)(RCP)	LF	847	\$53.06	\$44,941.82	\$38.03	\$32,211.41	\$46.80	\$39,639.60		
37 PIPE CULVERT OPTIONAL MATERIAL (S/CD)(ROUND)(30*)(RCP)	LF	329	\$72.96	\$24,003.84	\$53.24	\$17,515.96	\$59.30	\$19,509.70		
38 PIPE CULVERT OPTIONAL MATERIAL (S/CD)(ELLIP)(12"x18")(ERCP)	LF	9	\$285.92	\$2,573.28	\$27.00	\$243.00	\$148.50	\$1,336.50		
39 PIPE CULVERT OPTIONAL MATERIAL (S/CD)(ELLIP)(14"x23")(ERCP)	LF	84	\$78.70	\$6,610.80	\$35.86	\$3,012.24	\$45.00			
40 PIPE CULVERT OPTIONAL MATERIAL (S/CD)(ELLIP)(29*x45*)(ERCP)	LF	308	\$112.95	\$34,788.60	\$176.54	\$54,374.32	\$105.30	\$32,432.40		
41 PIPE CULVERT OPTIONAL MATERIAL (S/CD)(ELLIP)(53"x83")(ERCP)	LF	95	\$628.09	\$59,668.55	\$755.19	\$71,743.05	\$287.00			
42 MITERED END SECTION (18* RCP SD) (INCLUDES RIP RAP)	EA	1 1	\$1,553.95	\$1,553.95	\$706.00	\$706.00	\$1,188.00	\$1,188.00	Z.A.	
43 MITERED END SECTION (30* RCP SD) (INCLUDES RIP RAP)	EA	1	\$2,815.98	\$2,815.98	\$2,336.00	\$2,336.00	\$700.00	\$700.00		
44 MITERED END SECTION (OPT / ELLIP / ARCH) (29" X 45" ERCP) (INCLUDES RIP RAP)	EA	1	\$3,577.55	\$3,577.55	\$3,749.00	\$3,749.00	\$1,936.00	\$1,936.00		
45 CROSSHOLE SONIC LOGGING	EA	2	\$1,759.96	\$3,519.92	\$1,738.56	\$3,477.12	\$1,600.00	\$3,200.00		
46 PEDESTRIAN / BICYCLE RAILING (ALUMINUM, 42* PICKET RAILING)	LF	1269	\$43.55	\$55,264.95	\$31.51	\$39,986.19	\$29.00	\$36,801.00		
47 CONCRETE CURB AND GUTTER (TYPE F)	LF	5647	\$11.07	\$62,512.29	\$8.90	\$50,258.30	\$8.90	\$50,258.30		to the second

Page 4 of 6

office Exery date with				THOSE ENGLY OF THE AVERAGE EN		American and a second a second and a second		ACRES AND RESIDENCE AND RESIDE		
		Commence of 3 to see the second		Particular Appropriate Control		5		的建于中心中的逻辑则是学生的		
BID "B" 280 CALENDAR DAYS					Woodruff & Sons, Inc. P.O. Box 10127 Bradenton, FL 34282-0127 (Manatee County)		QGS Site Development 17502 CR 672 Lithia, FL 33547 (Hillsborough County)		Graham, Inc. Cone Road , FL 33610 ough County)	
ITEM		COLOUR CEASERS.	Andrew States	Unit	Extended	Unit	Extended	Unit	Extended	(1) (1) (1) (1) (1) (1) (1) (1) (1) (1)
No.	Line Item	Unit	Quantity	Price	Price	Price	Price	Price	Price	国际经验区域 医性经验研究
48	CONCRETE CURB (TYPE D)	LF I	312	\$10.35	\$3,229.20	\$13.90	\$4,336.80	\$12.00	\$3,744.00	
49	CONCRETE TRAFFIC SEPARATOR (TYPE IV. 4' WIDE)	LF	796	\$24.84	\$19,772.64	\$25.06	\$19,947.76	\$22.00	\$17,512.00	
50	CONCRETE SIDEWALK, 4" THICK	SY	3,040	\$29.09	\$88,433.60	\$31.96	\$97,158.40	\$22.00	\$66,880.00	
51	CONCRETE SIDEWALK, 6" THICK (DRIVEWAYS)	SY	704	\$42,17	\$29,687.68	\$40.83	\$28,744.32	\$27.00	\$19,008,00	
52	FENCE (TYPE B) (5.1'- 6' HEIGHT)	LF	1.057	\$11.55	\$12,208.35	\$11.95	\$12,631,15	\$11.00	\$11,627.00	
53	FENCE GATES (TYPE B)(DOUBLE)(20' OPENING)	EA	2	\$1,303.47	\$2,606.94	\$1,055.00	\$2,110.00	\$971.00	\$1,942.00	
54	DIRECTIONAL BORE (< 6")	LF	96	\$12.65	\$1,214.40	\$12.50	\$1,200.00	\$11.50	\$1,104.00	
55	DIRECTIONAL BORE (6* to <12*)	T IF	325	\$25.02	\$8,131,50	The second secon	\$8,034,00	\$22.75	\$7,393.75	
56	PERFORMANCE TURF, SOD	SY	10,470	\$4.05	\$42,403.50	\$2.11	\$22,091,70	\$3.00	\$31,410,00	
57	TIMING IMPLEMENTATION, CONTROLLER & COORDINATION UNIT	PI	1	\$527.99	\$527.99	\$521.57	\$521.57	\$480.00	\$480.00	
58	CONDUIT, SIGNAL (F&I) (ABOVE GROUND)	LF	36	\$14.46	\$520.56	\$14.29	\$514.44	\$13.15	\$473.40	
59	CONDUIT, SIGNAL (F&I) (UNDERGROUND)	LF	3,793	\$3.30	\$12,516.90	\$3.26	\$12,365.18	\$3.00	\$11,379.00	
60	CABLE, SIGNAL (F&I)	PI	1	\$8,931.80	\$8,931.80	\$8,823.00	\$8,823.00	\$8,120.00	\$8,120.00	
61	FIBERGLASS INSULATOR (F&I)	LÉ	100	\$19.63	\$1,963.00	\$19.40	\$1,940.00	\$18.00	\$1,800.00	
62	PULL AND JUNCTION BOXES (F&I) (PULL BOX)	EA	27	\$538.99	\$14,552.73	\$532.43	\$14,375.61	\$490.00	\$13,230.00	
63	SIGNALS, ELEC POWER SERV (UNDERGROUND)(PURCHASED BY CONTRACTOR)	AS	1	\$2,529.94	\$2,529.94	\$2,500.00	\$2,500.00	\$2,300.00	\$2,300.00	
64	SIGNALS, ELECTRICAL SERVICE WIRE (3 WIRE) (F&I)		69	\$3.19	\$220.11	\$3.15	\$217.35	\$2.90	\$200.10	
65	MAST ARM ASSEM (F&I)(WS 130) (STEEL)(SINGLE ARM)(46')(BLACK)(W/O LUM)	EA	1	\$29,039,35	\$29,039.35	\$28,686,00	\$28,686.00	\$26,400.00	\$26,400.00	
66	MAST ARM ASSEM (F&I) (WS 130) (STEEL) (SINGLE ARM) (70.5') (BLACK) (W/O LUM)	EA	1	\$34,869,22	\$34,869,22	\$34,445.00	\$34,445.00	\$31,700.00	\$31,700.00	
67	MAST ARM ASSEM (F&I) (WS 130) (STEEL) (SINGLE ARM) (60') (BLACK) (W/ LUM)	EA	2	\$31,404.30	\$62,808.60	\$31,022.00	\$62,044.00	\$28,550.00	\$57,100.00	
68	TRAFFIC SIGNAL (F&I) (3 SECT., 1-WAY, STANDARD) (LED)	AS	12	\$791.98	\$9,503.76	\$783.00	\$9,396.00	\$720.00	\$8,640.00	
69	PEDESTRIAN SIGNALS (F&I) (COUNTDOWN, 1-WAY)	AS	8	\$615.99	\$4,927.92	\$609.00	\$4,872.00	\$560.00	\$4,480.00	
70	SIGNAL HEAD AUXILIARIES (F&I) (ALUMINUM PEDESTAL)	EA	8	\$1,077.98	\$8,623.84	\$1,064.00	\$8,512,00	\$980.00	\$7,840.00	
71	VEHICLE DETECTOR ASSEMBLES (F&I) (VIDEO)	EA	5	\$7,138.84	\$35,694.20	\$7,053.00	\$35,265.00	\$6,490.00	\$32,450.00	
72	PED DETECTOR (F&I) (POLE OR CABINET MOUNTED DETECTOR STATION & SIGN)	EA	1	\$351.99	\$351.99	\$347.00	\$347.00	\$320.00	\$320.00	
73	PED DETECTOR (F&I)(DETECTOR WITH SIGN ONLY)	EA	7	\$187.00	\$1,309.00	\$185.00	\$1,295.00	\$170.00	\$1,190.00	
74	ACTUATED SOLID ST. CONTROLLER AS (NEMA)	AS	1	\$38,741.14	\$38,741.14	\$9,780.00	\$9,780.00	\$35,220.00	\$35,220.00	
75	REMOVE TRAFFIC SIGNAL HEAD ASSEMBLY	EA	10	\$35.20	\$352.00	\$34.77	\$347.70	\$32.00	\$320.00	
76	REMOVE PEDESTRIAN SIGNAL ASSEMBLY	EA	4	\$52.80	\$211.20	\$52.00	\$208.00	\$48.00	\$192.00	
77	SIGNAL PEDESTAL REMOVE	EA	2	\$82.50	\$165.00	\$82.00	\$164.00	\$75.00	\$150.00	
78	POLE REMOVAL (DEEP) (BOLT ON ATTACHMENT)	EA	4	\$714.98	\$2,859.92	\$706.00	\$2,824.00	\$650.00	\$2,600.00	
79	REMOVE CONTROLLER ASSEMBLY	EA	1	\$263.99	\$263.99	\$261.00	\$261.00	\$240.00	\$240.00	
80	REMOVE SPAN WIRE ASSEMBLY	EA	4	\$263.99	\$1,055.96	\$261.00	\$1,044.00	\$240.00	\$960.00	
81	REMOVE CABLING AND CONDUIT	P!	1	\$511.49	\$511.49	\$505.00	\$505.00	\$465.00	\$465.00	
82	REMOVAL MISCELLANEOUS SIGNAL EQUIPMENT	PI	1	\$351.99	\$351.99	\$348.00	\$348.00	\$320.00	\$320.00	
83	SIGN, INTERNALLY ILLUMINATED (F&I) (STREET NAME)	EA	4	\$4,289.90	\$17,159.60	\$4,237.00	\$16,948.00	\$3,900.00	\$15,600.00	
84	SIGN SINGLE POST (<12 SF)	AS	20	\$274.99	\$5,499.80	\$222.75	\$4,455.00	\$250.00	\$5,000.00	
85	SIGN EXISTING (RELOCATE, SINGLE POST)	AS	5	\$165.00	\$825.00	\$163.00	\$815.00	\$150.00	\$750.00	
86	SIGN EXISTING (REMOVE, SINGLE POST)	AS	8	\$27.50	\$220.00	\$27.00	\$216.00	\$25.00	\$200.00	
87	SIGN PANEL (F&I) (15 OR LESS SF)	EA	10	\$412.49	\$4,124.90	\$108.00	\$1,080.00	\$375.00	\$3,750.00	
88	RETRO-REFLECTIVE PAVEMENT MARKERS	EA	425	\$3.30	\$1,402.50	\$3.26	\$1,385.50	\$3.00	\$1,275.00	
89	REFLECTIVE PAINT (ISLAND NOSE) (YELLOW)	SF	38	\$6.60	\$250.80	\$0.82	\$31.16	\$2.00	\$76.00	
90	SOLID TRAFFIC STRIPE, THERMOPLASTIC (WHITE)(6°)	NM	1.205	\$5.44	\$6.56	\$5,378.00	\$6,480.49	\$4,950.00	\$5,964.75	
91	SOLID TRAFFIC STRIPE, THERMOPLASTIC (WHITE)(12")	LF	1,352	\$2.20	\$2,974.40	\$2.17	\$2,933.84	\$2.00	\$2,704.00	
92	SOLID TRAFFIC STRIPE, THERMOPLASTIC (WHITE)(24*)	LF	293	\$4.18	\$1,224.74	\$4.13	\$1,210.09	\$3.80	\$1,113.40	

Page 5 of 6

MANATEE PROJECT NO. 6040460

9TH STREET EAST / 53RD AVENUE EAST / 57TH AVENUE EAST

			21017 00110714		3	STATE OF THE PERSON NAMED IN	4 100 100 100	eli anticolo della constitución	5	
BID "B" 280 CALENDAR DAYS					Woodruff & Sons, Inc.		QGS Site Development 17502 CR 672 Lithia, FL 33547 (Hillsborough County)		& Graham, Inc. 1 Cone Road pa, FL 33610 prough County)	
ITEM		104 (100)	Carlo Sir House	Unit	Extended	Unit	Extended	Unit	Extended	PRINCIPLE WILL BEING COM
No.	Line Item	Unit	Quantity	Price	Price	Price	Price	Price	Price	尼斯尼斯堡 亚斯斯堡沙州
93	SKIP TRAFFIC STRIPE, THERMOPLASTIC (WHITE) (6*) (10'-30' SKIP)	GM	0.924	\$1,567.47	\$1,448.34	\$1,548.00	\$1,430.35	\$1,425.00	\$1,316.70	
94	SKIP TRAFFIC STRIPE, THERMOPLASTIC (WHITE) (6") (2'-4' SKIP)	LF	553	\$1.10	\$608.30	\$1.09	\$602.77	\$1.00	\$553.00	
95	PAVEMENT MESSAGES, THERMOPLASTIC (WHITE)	EA	16	\$110.00			\$1,728.00	\$100.00		
96	DIRECTIONAL ARROWS, THERMOPLASTIC (WHITE)	EA	44	\$66.00	\$2,904.00	\$65.20	\$2,868.80	\$60.00		
97	SOLID TRAFFIC STRIPE, THERMOPLASTIC (YELLOW) (6*)	NM	1.012	\$5.44	\$5.51	\$5,379.00	\$5,443.55	\$4,950.00		
98	SOLID TRAFFIC STRIPE, THERMOPLASTIC (YELLOW) (18*)	LF	42	\$3.19		\$3.15	\$132.30	\$2.90		
99	SKIP TRAFFIC STRIPE, THERMOPLASTIC (YELLOW) (6*) (10'-30' SKIP)	GM	0.441	\$1,567.47	\$691.25	\$1,548.00	\$682.67	\$1,425.00		
100	LUMINAIRE & BRACKET ARM	EA	2	\$912.98	\$1,825.96	\$902.00	\$1,804.00	\$830.00	\$1,660.00	
101	ITS ELECTRICAL POWER, F&I, SERVICE WIRE	LF	36	\$2.47		\$2.44	\$87.84	\$2.25	\$81.00	
102	ITS CONDUIT, F&I, UNDERGROUND	LF	12	\$6.16	\$73.92	\$6.09	\$73.08	\$5.60	\$67.20	
103	ITS PULL & JUNCTION BOX, F&I	EA	1	\$1,154.97	\$1,154.97	\$1,141.00	\$1,141.00	\$1,050.00	\$1,050.00	
104	ALUMINUM SHEET PILE	LF	206	\$332.74	\$68,544.44	\$304.83	\$62,794.98	\$302.00	\$62,212.00	
	DISCRETIONARY WORK				\$100,000.00	世代をおうかり	\$100,000.00	EAR WELLS	\$100,000.00	
	ROADWAY SUBTOTAL				\$2,742,588.39		\$3,136,589.84		\$3,174,838.93	
	FORCEMAIN	 								
05	UTILITY PIPE (4" PVC)	LF	1,280	\$13.05	\$16,704.00	\$16.30	\$20,864.00	\$11.70	\$14,976.00	
106	VALVE ASSEMBLY (F&I)(CAST IRON)(GATE)(150PSI)(4*)(FM)	ĒA	1	\$1,284.64	\$1,284.64	\$1,059.00	\$1,059.00	\$960.00		
107	CONNECTION TO EXISTING SYSTEM	EA	2	\$2,585.56	\$5,171.12	\$814.95	\$1,629.90	\$980.00		
	DISCRETIONARY WORK			STATE OF STREET	\$6,000.00	UNIC RESPONSED IN	\$6,000.00	Sal Maranipula	\$8,000.00	
	FORCEMAIN SUBTOTAL				\$29,159.76		\$29,552.90		\$23,896.00	
	WATERMAIN									
108	UTILITY PIPE (6* PVC)	LF	1,342	\$21.34	\$28,638.28	\$20.10	\$26,974.20	\$19.15	\$25,699.30	
109	UTILITY PIPE (6* DI)	LF	170	\$33.63	\$5,717.10	\$53.95	\$9,171.50	\$28.40		
110	VALVE ASSEMBLY (F&I)(CAST IRON)(GATE)(150PSI)(6")(WM)	EA	3	\$1,300.11	\$3,900.33	\$1,304.00	\$3,912.00	\$1,104.00		
111	UTILITY FIXTURES RELOCATE (WATER METERS)	EA	2	\$998.17	\$1,996.34	\$543.00	\$1,086.00	\$567.00		
112	UTILITY FIXTURES ADJUST	EA	5	\$1,720.57	\$8,602.85	\$163.00	\$815.00	\$320.00		
13	FIRE HYDRANT	EA	3	\$4,440.13	\$13,320.39	\$5,596.00	\$16,788.00	\$4,614.00		
114	6* BACKFLOW PREVENTER (RELOCATE)	EA	1	\$4,806.61	\$4,806.61	\$2,716.00	\$2,716.00	\$2,740.00		
115	2* WATER METER/BACKFLOW PREVENTER (RELOCATE)	EA	2	\$2,584.75	\$5,169.50	\$1,304.00	\$2,608.00	\$1,455.00		
116	CONNECTION TO EXISTING SYSTEM	EA	2	\$1,691.00		\$1,901.00	\$3.802.00	\$1,605.00		
117	CUT & CAP EXISTING WATER MAIN	EA	1	\$1,470.95	\$1,470.95	\$135.82	\$135.82	\$425.00		
-	DISCRETIONARY WORK		· · · · · · · · · · · · · · · · · · ·	DATE OF THE PARTY	\$10,000.00		\$10,000.00	9 TE 5.00	\$10,000.00	
	WATERMAIN SUBTOTAL				\$87,004.35		\$78,008.52		\$69,700.30	
	TOTAL BID PRICE "B"		MINISTRE DE COMP		\$2,858,752.50	ECTABLE IN	\$3,244,151.26	45 D 3 B 5 B 5 B 5 B 5 B 5 B 5 B 5 B 5 B 5 B	\$3,268,435.23	
F1005	Acknowledged Addendum #1	100000000000000000000000000000000000000	THE PARTY OF THE PARTY.		Yes		93,244,151.26 Yes		Yes	
Mist Dis	Florida Trench Safety Act	204534639	RIN SELECTION		Yes		Yes		Yes	
THE REAL PROPERTY.	Contractor's Questionnaire				Yes		Yes		Yes	
50.00	Contractor's License	O CHARLES	Kit (in the friends)		29 Years	CG	C - 21 Years	CO	C - 33 Years	
-	Public Contracting & Environmental Crimes	STATE OF THE PARTY	STORES OF STREET		Yes		Yes	Yes		
13.50	Affidavit for Local Business (if applicable)	No all control	THE SECOND SECOND		No		No		No	
of the latest terms	Bid Bond	ALC DESCRIPTION OF THE PARTY OF	E STATE OF THE PARTY OF THE PAR	Cashi	ers Check	Yes		Yes		
1				Mathematical Errors		Mathematical Error		N/A		

Page 6 of 6

BID TABULATION

FOR

IFB # 12-1881-DS

MANATEE PROJECT NO. 6040460 9TH STREET EAST / 53RD AVENUE EAST / 57TH AVENUE EAST

BID "B"
BASED ON A COMPLETION TIME OF 280 CALENDAR DAYS

PREPARED BY:	Justhe	1/15/13
(Project Engineer)	John É Howle, P.E., Vice President of Engineering	Date
REVIEWED BY:	Eyra Cosh	1/15/13
(Project Management)	Eyra Cash, Project Manager	Date
APPROVED BY:	Danna Tarra	1/17/13
(Purchasing)	Donna Stevens, Contract Specialist	Date